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Graphical Inequalities CorbettmaOtths

Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed

k.

Guidance

1. Read each guestion carefully before you begin answering it.
2. Don't spend too long on one guestion.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings
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1. On the grid, clearly indicate the region that satisfies all these inequalities.

Xxz=3 yz1 X+y=5

(3)

2. On the grid, clearly indicate the region that satisfies all these inequalities.

<X ya1 XK+y=d

.
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On the grid, label the region that satisfies all three of these inequalities
-1l<x=2 y=8 yzdx -4

(4)
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4. On the grid, label the region that satisfies all three of these inequalities

Xx=3 y=-3 1;42:(
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5. On the grid, clearly label the region which satisfies all three inequalities below

Xx=2 y=2x-2 X+y+2=0
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6. On the grid, clearly label the region which satisfies all three inequalities below

Xx=0 VR X+2y<d
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7. A greengrocer sells bananas and apples.

In one day he sells

up to 80 bananas
up to 90 apples

no more than a total of 110 pieces of fruit

Let ¥ be the number of bananas sold
Let y be the number of apples sold.

x < 80

y <90

X+y

Show the region below that satisfies these inequalities
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The region labelled R satisfies three inequalities.
State the three inequalities
x<6
y>2
y £ X
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The region labelled R satisfies three inegualities.

State the three inequalities
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The region labelled R satisfies three inequalities.

State the three inequalities
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